The gravitational field
Gravity caused by the earth
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The gravitational field

Example: Calculate the gravitional field on Mars. Mars has a density of 3933,5kg/m? and an average radius of 3386 km.
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The gravitational field

Factors influencing the gravitational field

height: Heigth is different at different G
places or you can be in an g 2
airplane. In both cases r is //' r
greater:
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The gravitational field

Factors influencing the gravitational field m
1

Density: g = G T

Density differs on different
locations on earth: small variations \

whether you are on dense rock or a IOV
lighter medium. g = G .

r2

The gravitational field

Factors influencing the gravitational field

latitude: flattening: . ———— Flattening causes different g — G ml

ﬁ / distances to the centre: iR r 2

Angular velocity: No movement at north pole: ~ F . =0=F +F, F =F =m0 e
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